
(a)                                       Input: Demographic history from the Bern-LPX data

(b)                                                     Output: Mean coalescence time

Scenario 3
deme size according to 
Bern-LPX in space and time

Scenario 1
constant deme size 
in space and time

Scenario 2
constant deme size 
in time, Bern-LPX in space

Scenario 4
Identical to Scenario 3 but 
with two ancestral populations

22 kyrs BP                                                    11 krys BP                                                            Today


